CX Energy Services PO Box 3450, 74028 RR 174, 74028 RR 174 High Prairie, AB, TOG 1E0 CA 7805230245

Work Order Number: Invoice Number:

PO Number:

#785

WORK ORDER

WORK ORDER DETAILS

Scheduled Start Date:

Issue Date:

Mon, Oct 3, 2022

9:48 AM

#30

2016 Kenworth W900

VIN/SN:

License Plate:

1XKWD40X2GR983194

EE25-2

Actual Start Date: Thu, Sep 29, 2022

7:00 AM

Operator:

Type:

Group:

Heinz Zier

Expected Completion Date:

Fri, Oct 7, 2022

Tandem

18,854hr

Actual Completion Date:

4:37 PM

Odometer:

Secondary Meter:

716,703km (voided meter)

8 days 9 hrs 37 mins

Repair Priority Class:

Non-Scheduled

Status:

Duration:

Completed

Issued By:

Assigned to:

Vendor:

Labels:

Iten	1		Labor	Parts	Subtotal
٩	Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check for any signs of wear. Check pintle hitch for free movement of looperation. Check fifth wheel for proper jaw adjustment and graphite lube depending on fifth wheel style.	ock and no slack shoe	\$6.09	\$0.00	\$6.09
	MICHAEL ABLOG (Contact)	0.21 hrs \$29.00			\$6.09
4	Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering	linkage.	\$6.02	\$6.16	\$12.18
	Rickylynn Peters (Contact)	0.28 hrs \$21.50			\$6.02
	MXFPSC30 (Part) · Main (Archived) GREASE PRECISION TUBE	1 tube \$6.16			\$6.16
4	Truck Preventative Maintenance Inspection		\$28.50	\$0.00	\$28.50
	Ross Cowell (Contact)	1 hr \$28.50			\$28.50

lten	1		Labor	Parts	Subtotal
4			\$5.99	\$0.00	\$5.99
	Air System Leaks Check air system for leaks. Check airlines and connections could become a problem even if not currently leaking. Removith lines in an air up state ie. airbags inflated, button pushe to check service brake leaks.	ember to check for leaks			
	Ross Cowell (Contact)	0.21 hrs \$28.50			\$5.99
4	Check Diff and Trans Oil		\$5.99	\$0.00	\$5.99
	Ross Cowell (Contact)	0.21 hrs \$28.50			\$5.99
4	Torque Wheels Verify wheels are properly torqued		\$5.99	\$0.00	\$5.99
	Ross Cowell (Contact)	0.21 hrs \$28.50			\$5.99
٩	Walk Around Inspection		\$11.60	\$0.00	\$11.60
	MICHAEL ABLOG (Contact)	0.4 hrs \$29.00			\$11.60
4	Tire Condition and Pressure Inspection Check all tires		\$86.00	\$0.00	\$86.00
	Rickylynn Peters (Contact)	4 hrs \$21.50			\$86.00
٩	gear pump sideplugs leaking		\$5.99	\$0.00	\$5.99
	Ross Cowell (Contact) taped	0.21 hrs \$28.50			\$5.99
4	a2 output yoke loose		\$14.79	\$24.55	\$39.34
	MICHAEL ABLOG (Contact) Property of the prop	0.51 hrs \$29.00			\$14.79
	FGRKIT2637 (Part) · Main ROCKWELL DIFF OUTPUT,	1 ea \$24.55			\$24.55
4	Engine Oil & Filter Replacement		\$22.50	\$234.66	\$257.16
	JOE NEMEC (Contact)	0.25 hrs \$90.00			\$22.50
	MXF15W40 (Part) ENGINE OIL, 15W40 BUL	50 L \$3.84			\$192.00
	BALBD50000 (Part) · Main (Archived) OIL FILTER	1 ea \$42.66			\$42.66



Item	1			Labor	Parts	Subtotal
4	B	ine Rebuild Engine pressuring up cooling system. Tore dowr		\$4,740.00	\$11,643.88	\$16,383.88
	cou new	nder head. Liner heights were all around 0.009". Interbores. Installed new liners with shims to bring the pistons and rod bearings. Installed new cylinde seals. Replaced front gear housing and all gaske	g height to 0.012°. Installed r head with all new gaskets			
	2	JOE NEMEC (Contact)	40 hrs \$90.00			\$3,600.00
	<u>a</u>	Ross Cowell (Contact)	40 hrs \$28.50			\$1,140.00
		GWK1135304 (Part) · Main (Archived)	1 ea			\$26.24
	86	ORING OIL COOLER COOL	\$26.24			\$20.24
	計	GWK4966454CUM (Part) · Main	1 ea			\$61.02
		CLAMP TURBO> BELLOWS	\$61.02			Q01.02
		<u></u>	· · · · · · · · · · · · · · · · · · ·			
		GWK5298564 (Part) · Main	6 ea			\$394.92
		SHIM	\$65.82			
	計	TTD2264659 (Part) · Main	6 ea			\$900.00
		MAHLE CYLINDER SLEEVE	\$150.00			
			The state of the s			
		GWK3411881CUM (Part) · Main	1 ea			\$7.16
		INTERNAL SNAP RING, O	\$7.16			
•	Dě	TTDV2001070 (Deat) Main (Arabitat)	er er e r er			40.00
	哈	TTDX2881879 (Part) · Main (Archived) ISX PISTON KIT	6 ea			\$3,306.18
		13A F13 1 0 1 N 1 1	\$551.03			
	脍	GWK1135304 (Part) Main (Archived)	••••••••••••••••••••••••••••••••••••••			
	88	ORING OIL COOLER COOL	1 ea \$26.24			\$26.24
		OISTO OIE OO OEEKOOOE	\$20.24			
	맖	GWK4952631 (Part) · Main	1 ea			\$133.11
		THERMOSTAT OIL DELETE	\$133.11			Q133.11
		At the second of				
		GWK4955831CUM (Part) · Main	1 ea			\$582.10
		OILCOOLERKIT	\$582.10			4002. 10
	랆	GWK4357177CUM (Part) · Main	1 ea			\$16.93
		PRESSURE RELIEF VALVE	\$16.93			
	哈	FGR3483682 (Part) · Main	1 ea			\$123.90
		OIL COOLER GASKET KIT	\$123.90			
		GWK5440813 (Part) · Main	4			A
		AIR COMPRESSOR GASKET	1 ea			\$16.07
		THE CONTRACTOR OF THE CONTRACT	\$16.07			
	歐	GWK4988280 (Part) · Main	1 ea			64.10
		GASKET POWER STEERING	\$4.10			\$4.10
			γπ.ιν			
	監	GWK5414049 (Part) · Main	1 ea		111	\$27.14
		FUEL PUMP GASKET	\$27.14			927.14

		GWK3685173CUM (Part) · Main	1 ea			\$80.70
		CRANKSEAL FRONT CUMM	\$80.70			400.70
		11.7. T.				



ltem			Labor	Parts	Subtotal
	GWK4318947CUM (Part) · Main	1 ea			\$87.93
	THERMOSTAT WATER 180	\$87.93			• • • • • • • • • • • • • • • • • • • •
	GWK186780 (Part) · Main	1 ea			\$2.22
5 5	SEAL 2 1/8"	\$2.22			¥4.22
ПФ	GWK3678724 (Part) - Main	1			62.02
않	WATER PUMP-BLOCK O-RI	1 ea \$3.93			\$3.93
路	GWK4059172 (Part) · Main WATER PUMP INLET O-RI	1 ea \$7.99			\$7.99
	WATERFOWN INCETORI	\$7.99			
	GWK3685556 (Part) · Main	1 ea			\$12.96
	FRONT COVER GASKET-AD	\$12.96			
歐	GWK5060640 (Part) · Main	1 ea			\$22.73
	A/C BELT	\$22.73			, ==
Пф	CM/V5120010 (Daw) Main (Arabitad)	4			400.40
	GWK5120910 (Part) · Main (Archived) FAN BELT W900	1 ea \$83.43			\$83.43
		400.40			
	GWK3164273 (Part) · Main	1 ea			\$15.89
	ELECTRICAL CONNECTOR,	\$15.89			
	GWK2866337CUM (Part) · Main	1 ea			\$16.70
	EXHAUST GASKET 5" CIR	\$16.70			•
四	GWK90-0012 (Part) · Main	1			015.05
50	V BAND CLAMP	1 ea \$15.05			\$15.05

04 06	• •	1 ea			\$19.00
	STANDOFF BRACKET	\$19.00			
日 令	NTXP550830 (Part) - Main	1 ea			\$13.40
	POWER STEERING FILTER S/AS PT9354-MPG	\$13.40			·
₽¢	GWK4026684 (Part) · Main	1 ea			6000.00
90	OIL PAN GASKET CUMM	\$283.28			\$283.28
		V -331 .03			
	GWK5468170 (Part) · Main	1 ea			\$1,032.07
	GEAR HOUSING FRONT ST	\$1,032.07			
□	TTDFP2881767 (Part)	1 ea			\$899.71
	UPPER ENGINE GASKET K	\$899.71			, ·
말순	GWK3691253RX (Part) · Main (Archived)	1 ea			63 401 70
mM	CYLINDER HEAD ISX & X	\$3,421.78			\$3,421.78
		457.20			



Subtotal	\$16,848.71
Labor	\$4,939.46
Parts	\$11,909.25
Labor Markup	+ \$0.00 (0.0%)
Parts Markup	+ \$0.00 (0.0%)
Warranty Credits	- \$0.00 (Fixed)
Discount	- \$0.00 (0.0%)
Tax	+\$0.00 (0.0%)
Total	\$16,848.71



CX Energy Services
P0 Box 3450, 74028 RR 174, 74028 RR 174
High Prairie, AB, T0G 1E0
CA
7805230245

Work Order Number: Invoice Number: PO Number: #2845

WORK ORDER

WORK ORDER DETAILS

Issue Date:

Thu, Oct 12, 2023

8:01 AM

Scheduled Start Date:

Actual Start Date: Wed, Oct 11, 2023

8:01 AM

5 days

Scheduled

Completed

JOE NEMEC

Mon, Oct 16, 2023

Expected Completion Date:

Actual Completion Date:

Duration:

Repair Priority Class:

Status:

Issued By:

Assigned to:

Vendor:

Labels:

#30

2016 Kenworth W900

VIN/SN:

License Plate:

Operator:

Type:

Group:

Odometer:

Secondary Meter:

1XKWD40X2GR983194

Heinz Zier

Tandem

853,305km 21,938hr

Iten	n		Labor	Parts	Subtotal
٩	A1 Dust Shields		\$3.80	\$0.00	\$3.80
	Ross Cowell (Contact) Replaced missing bolts	0.1 hrs \$38.00			\$3.80
٩	Power Steering Leak		\$3.80	\$0.00	\$3.80
	Ross Cowell (Contact) Tightened clamps	0.1 hrs \$38.00			\$3.80
٩	Truck Preventative Maintenance Inspection		\$38.00	\$0.00	\$38.00
	Ross Cowell (Contact)	1 hr \$38.00			\$38.00
٩	air to air bushing rh side		\$7.60	\$0.00	\$7.60
	Ross Cowell (Contact)	0.2 hrs \$38.00			\$7.60
4	Transmission Replacement		\$608.00	\$7,442.76	\$8,050.76



ltem				Labor	Parts	Subtotal
	2	Ross Cowell (Contact) Swapped transmission, replaced rear main sea Replaced linkage bearings and found pto and gea them as well.				\$608.00
		William as Well	16 hrs \$38.00			
		A1DRTL018918REBUILT (Part) · Main TRANSMISSION REBUILD	1 ea \$4,350.00			\$4,350.00
		FGR127760 (Part) · Main CLUTCH BRAKE 1 PIECE	1 ea \$59.30			\$59.30
		GWK4965569 (Part) · Main REAR CRANK SEAL CUMM	1 ea \$135.61			\$135.61
		GWK308925-25 (Part) · Main CLUTCH 15.5 2050 TORQ	1 ea \$1,246.00			\$1,246.00
		HVEFLY_WHEEL (Part) · Main FLYWHEEL RESURFACE	1 ea \$139.95			\$139.95
		FGR462ESK4022 (Part) · Main CLUTCH ROD END RH S/A	1 ea \$47.55			\$47.55
		FGR462ESK4021 (Part) · Main CLUTCH ROD END LH, S/	1 ea \$49.05			\$49.05
		GWKSPF6S (Part) · Main CLUCTH ROD END RH 3/8	2 ea \$11.45			\$22.90
	設	GWK1R812 (Part) · Main INNER RACE / CLUTCH	2 ea \$29.62			\$59.24
		GWKHJ122012 (Part) · Main NEEDLE BEARING / CLUT	2 ea \$27.70			\$55.40
		DPIPL12702BPBB (Part) · Main (Archived) MUNCIE GEAR PUMP, 27	1 ea \$984.90			\$984.90
		FGR35P8 (Part) · Main PTO FORK COVER GASKET	1 ea \$2.15			\$2.15
		GWK2866337CUM (Part) · Main EXHAUST GASKET 5" CIR	3 ea \$18.41			\$55.23
	哈	FGRSW50A3 (Part) · Main EXHAUST CLAMP 5" SS	2 ea \$21.80			\$43.60
	盟	MXFCD50 (Part) · Main TRANSMISSION OIL	18 L \$10.66			\$191.88
4	Hyd	raulic Filter Replacement		\$7.60	\$116.03	\$123.63
	0	Ross Cowell (Contact)	0.2 hrs \$38.00			\$7.60



Item	i			Labor	Parts	Subtotal
	跺	BALPT9187 (Part) · Main HYDRAULIC COOLER FILT S/AS FGR350001	1 ea \$31.25			\$31.25
	酴	MXFMV32 (Part) · Main (Archived)	18 L			\$84.78
		HYDRAULIC OIL	\$4.71			Q 0-11.70
4	Reb	uild PTO		\$72.00	\$1,181.67	\$1,253.67
	2	Ernesto Ablog (Contact)	2 hrs \$36.00			\$72.00
		FGR28P216 (Part) · Main PTO SEAL	1 ea \$19.30			\$19.30
		FGR3P282X (Part) · Main OUTPUT PTO SHAFT 7/8	1 ea \$169.42			\$169.42
		FGR22P1272 (Part) · Main PTO BEARING CAP GASKE	4 ea \$1.10			\$4.40
		FGR22P1273 (Part) · Main PTO BEARING CAP GASKE	1 ea \$2.35			\$2.35
		FGR2P778 (Part) · Main PTO OUTPUT GEAR, 680	1 ea \$297.45			\$297.45
		FGR35P152 (Part) · Main PTO GASKET 8 BOLT .02	1 ea \$2.14			\$2.14
	馠	FGR35P8 (Part) · Main PTO FORK COVER GASKET	1 ea \$2.15			\$2.15
		FGR550439 (Part) · Main PTO CLUSTER GEAR BEAR S/AS 21075T	1 ea \$46.56			\$46.5 6
	□	FGR5P1246 (Part) · Main PTO CLUSTER, INPUT GEAR	1 ea \$511.65			\$511.65
		FGR550532 (Part) · Main PTO BEARING REAR OUTP	1 ea \$33.15			\$33.15
		FGR550221 (Part) - Main PTO BEARING RACE S/AS 15245T	2 ea \$12.80			\$25.60
	2¢	FGR550397 (Part) · Main PTO BEARING #15126	1 ea \$33.15			\$33 .15
		FGR9P60 (Part) · Main PTO IDLER SHAFT, 680	1 ea			\$34.35
	Ļ	Engine Oil & Filter Replacement	\$34.35	\$9.50	\$234.24	\$243.74
	٥	Ross Cowell (Contact)	0.25 hrs \$38.00			\$9.50
	EK Di	NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$55.60			\$55.60



			Labor	Parts	Subtotal
23	MXF15W40 (Part) · Main				\$178.64
	ENGINE OIL, 15W40 BUL				
		44 L \$4.06			
			•	•	
C tl	Air System Leaks Check air system for leaks. Check airlines and connec hat could become a problem even if not currently leal check for leaks with lines in an air up state ie. airbags ir	king. Remember to	\$7.60	\$0.00	\$7.60
ir	n and brake applied to check service brake leaks.				
2	Ross Cowell (Contact)	0.2 hrs \$38.00			\$7.60
4 C	Check Diff and Trans Oil		\$7.60	\$10.35	\$17.95
۵	Ross Cowell (Contact)	0.2 hrs			\$7.60
	☐ Changed a3 breather	\$38.00			*****
	FGRKIT2902 (Part) · Main	1 ea			\$10.35
	BREATHER & TUBE KIT,	\$10.35			V 10.00
lı a s	nspect and Service Trailer Hitch nspect hitch whether it is a pintle or a fifth wheel. Che and any signs of wear. Check pintle hitch for free mov lack shoe operation. Check fifth wheel for proper jaw ither grease or graphite lube depending on fifth whee	ement of lock and no adjustment and apply	\$2.40	\$0.00	\$2.40
•	Rickylynn Peters (Contact)	0.1 hrs \$24.00			\$2.40
L ₂ T	Rickylynn Peters (Contact) Tire Condition and Pressure Inspection Check all tires		\$131.40	\$3,472.00	\$2.40 \$3,603.40
L ₂ T	ire Condition and Pressure Inspection		\$131.40	\$3,472.00	
Ŀ, T	Fire Condition and Pressure Inspection Check all tires	\$24.00	\$131.40	\$3,472.00	\$3,603.40
i⇒ T	Fire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact)	\$24.00 0.1 hrs	\$131.40	\$3,472.00	\$3,603.40
₽	Fire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact)	\$24.00 0.1 hrs \$24.00	\$131.40	\$3,472.00	\$3,603.40 \$2.40
₽	Fire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact)	\$24.00 0.1 hrs \$24.00 2 hrs	\$131.40	\$3,472.00	\$3,603.40 \$2.40 \$48.00
i⇒ T	Fire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact) B Replaced drives	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00	\$131.40	\$3,472.00	\$3,603.40 \$2.40
i, T	Fire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact) B Replaced drives Allan Bates (Contact)	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00 3 hrs \$27.00 8 ea	\$131.40	\$3,472.00	\$3,603.40 \$2.40 \$48.00
4 °4	Tire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact) Replaced drives Allan Bates (Contact) Replaced drives KALDT890 (Part) · Main ROAD X DRIVE TIRES 11R 245	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00 3 hrs \$27.00			\$3,603.40 \$2.40 \$48.00 \$81.00 \$3,472.00
	Tire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact) Replaced drives Allan Bates (Contact) Replaced drives KALDT890 (Part) - Main	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00 3 hrs \$27.00 8 ea	\$131.40 \$2.40	\$3,472.00 \$0.00	\$3,603.40 \$2.40 \$48.00 \$81.00
	Rickylynn Peters (Contact) Rickylynn Peters (Contact) Rickylynn Peters (Contact) Replaced drives Allan Bates (Contact) Replaced drives KALDT890 (Part) · Main ROAD X DRIVE TIRES 11R 245	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00 3 hrs \$27.00 8 ea			\$3,603.40 \$2.40 \$48.00 \$81.00 \$3,472.00
	Tire Condition and Pressure Inspection Check all tires Rickylynn Peters (Contact) Rickylynn Peters (Contact) Replaced drives Allan Bates (Contact) Replaced drives KALDT890 (Part) · Main ROAD X DRIVE TIRES 11R 245 Torque Wheels Verify wheels are properly torqued	\$24.00 0.1 hrs \$24.00 2 hrs \$24.00 3 hrs \$27.00 8 ea \$434.00			\$3,603.40 \$2.40 \$48.00 \$81.00 \$3,472.00



ltem		Labor	Parts	Subtotal
Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, s	teering linkage.	\$7.60	\$0.00	\$7.60
Ross Cowell (Contact)	0.2 hrs \$38.00			\$7.60
DESCRIPTION	SUMMA	\RY		
	Subtota	əl		\$13,388.85
	Labor			\$931.80
	Darte			

Subtotal	\$13,388.85
Labor	\$931.80
Parts	\$12,457.05
Labor Markup	+ \$0.00 (0.0%)
Parts Markup	+ \$0.00 (0.0%)
Warranty Credits	- \$0.00 (Fixed)
Discount	- \$0.00 (0.0%)
Tax	+\$0.00 (0.0%)

Total \$13,388.85

RESOLVED ISSUES(not linked to a Service Task)

Issue		Assigned	Due
#5611	From 0 on the peavine to stop sign at the junction 750 meets the 88 , I stop for traffic to go by and that was it all I had was 4 gear when to plains Nipisi and then home Reported Oct 9, 2023 by Heinz Zier		
#5601	Heard funny noise coming from the clutch we thought, but was told to just keep going by Luc and joe Reported Oct 8, 2023 by Heinz Zier		
#5669	[Inspection] Splines worn Reported almost 2 years ago by Ross Cowell • Truck Preventative Maintenance Checklist by Ross Cowell Generated by the failed inspection item "Hydraulic Motor" on the "Truck Preventative Maintenance Checklist" form submitted by Ross Cowell on Oct 13, 2023 at 10:20 AM MDT		



#3392

WORK ORDER

WORK ORDER DETAILS

Issue Date:

Tue, Jan 23, 2024

11:22 AM

11:23 AM

#30

2016 Kenworth W900

Scheduled Start Date:

Actual Start Date:

Tue, Jan 23, 2024

VIN/SN:

License Plate:

Expected Completion Date:

Actual Completion Date:

Fri, Jan 26, 2024

Type: Group: Heinz Zier Tandem

1XKWD40X2GR983194

3 days

Odometer:

Secondary Meter:

Operator:

900,168km 23,038hr

Repair Priority Class:

Scheduled

Completed

Status: Issued By:

Duration:

Assigned to:

Vendor:

Labels:

LINE ITEMS

Iten	n		Labor	Parts	Subtotal
٩	Truck Preventative Maintenance Inspection		\$37.00	\$0.00	\$37.00
	Roper Gorgichuk (Contact)	1 hr \$37.00			\$37.00
٩	Oil Leak, Hydraulic Pump and Pto		\$37.00	\$19.30	\$56.30
	Roper Gorgichuk (Contact)	1 hr \$37.00			\$37.00
	FGR28P216 (Part) · Main PTO SEAL	1 ea \$19.30			\$19.30
	#6770 · [Inspection] Pto or hydraulic pump is leaking out Generated by the failed inspection item "Hydraulic Motor" on the "T Gorgichuk on Jan 23, 2024 at 1:26 PM MST	ruck Preventative Mai	ntenance Checklist" fo	orm submitted by R	oper
٩	Product Pump u joint and Yoke		\$3.70	\$0.00	\$3.70
	Roper Gorgichuk (Contact)	0.1 hrs			\$3.70

\$37.00



Item Labor Parts Subtotal

#6771 · [Inspection] U- Joint yoke loose on the shaft
Generated by the failed inspection item "Product Pump" on the "Truck Preventative Maintenance Checklist' form submitted by Roper
Gorgichuk on Jan 23, 2024 at 1:26 PM MST

		-				
٩	_	nt Repair air Lights		\$7.40	\$49.95	\$57.35
	2	Roper Gorgichuk (Contact)	0.2 hrs \$37.00			\$7.40
		FGR94707 (Part) · Main LED SURESEAL PLUG ASS	1 ea \$4.55			\$4.55
		FGR60275Y (Part) · Main AMBER OVAL MODEL 60 L	1 ea \$45.40			\$45.40
	•	#6773 · [Inspection] LHs bumper Signal lig Generated by the failed inspection item "Clearanc Gorgichuk on Jan 23, 2024 at 1:26 PM MST		tenance Checkli	ist" form submitted by	Roper
٩	air 1	to air bushings rh		\$19.00	\$73.10	\$92.10
	2	Joseph Pitney (Contact)	0.5 hrs \$38.00			\$19.00
		FGRM203076 (Part) · Main AIR-AIR MOUNTING KIT	1 ea \$73.10			\$73.10
	0	#6769 · [Inspection] Air to air bushings Generated by the failed inspection item "Air to Air Gorgichuk on Jan 23, 2024 at 1:26 PM MST	Mounts" on the "Truck Preventative Mair	ntenance Checkl	ist" form submitted by	/ Roper
٩	leak	king shocks		\$38.00	\$76.05	\$114.05
	2	Joseph Pitney (Contact)	1 hr \$38.00			\$38.00
		FGR85937 (Part) · Main SHOCK DRIVE 8 BAG SUS	1 ea \$76.05			\$76.05
	•	#6768 · [Inspection] A3 rhs shock leaking a Generated by the failed inspection item "Shocks" Jan 23, 2024 at 1:26 PM MST			submitted by Roper G	orgichuk on
٩	Clut	tch linkage arm loose on cross shaft		\$7.77	\$0.00	\$7.77
	٥	Roper Gorgichuk (Contact)	0.21 hrs \$37.00			\$7.77
٩	7 W	ire Repair		\$5.40	\$0.00	\$5.40
	2	Allan Bates (Contact)	0.2 hrs \$27.00			\$5.40

#6772 · [Inspection] 7 wire harness wire greened out at connector

Generated by the failed inspection item "Trailer Cord and Pins" on the "Truck Preventative Maintenance Checklist" form submitted by Roper

Gorgichuk on Jan 23, 2024 at 1:26 PM MST



Item				Labor	Parts	Subtotal
٩	A1 LI	HS hub		\$37.00	\$651.03	\$688.03
		Roper Gorgichuk (Contact) B Replaced hub. Hub cap bolts broke off	1 hr \$37.00			\$37.00
		GWKCM10082209 (Part) · Main HUB ASSEMBLY	1 ea \$651.03			\$651.03
	(#6766 · [Inspection] A1 Lhs hub milky Generated by the failed inspection item "Front Hub Oil Le Gorgichuk on Jan 23, 2024 at 1:26 PM MST	vel" on the "Truck Preventativ	e Maintenance Che	cklist" form submitte	d by Roper
	ا جا	Engine Oil & Filter Replacement		\$9.25	\$352.37	\$361.62
	2	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9.25
		NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$55.85			\$55.85
		MXF5W40 (Part) · Main ENGINE OIL 5W40 BULK	42 L \$7.06			\$296.52
	1	Air System Leaks Check air system for leaks. Check airlines and connection that could become a problem even if not currently leaking check for leaks with lines in an air up state ie. airbags infla in and brake applied to check service brake leaks.	g. Remember to	\$18.00	\$0.00	\$18.00
	2	JOE NEMEC (Contact)	0.2 hrs \$90.00			\$18.00
	ا جا	Check Diff and Trans Oil		\$18.00	\$0.00	\$18.00
	2	JOE NEMEC (Contact)	0.2 hrs \$90.00			\$18.00
	;	Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check and any signs of wear. Check pintle hitch for free movem slack shoe operation. Check fifth wheel for proper jaw ac either grease or graphite lube depending on fifth wheel s	ent of lock and no ljustment and apply	\$9.25	\$0.00	\$9.25
	2	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9.25
		Tire Condition and Pressure Inspection Check all tires		\$5.40	\$0.00	\$5.40
	2	Allan Bates (Contact)	0.2 hrs \$27.00			\$5.40
		Torque Wheels Verify wheels are properly torqued		\$5.40	\$0.00	\$5.40
	<u>.</u>	Allan Bates (Contact)	0.2 hrs \$27.00			\$5.40



ltem		Labor	Parts	Subtotal
以 Walk Around Inspection		\$18.00	\$0.00	\$18.00
JOE NEMEC (Contact)	0.2 hrs \$90.00			\$18.00
Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering linkage.		\$19.00	\$6.90	\$25.90
Joseph Pitney (Contact)	0.5 hrs \$38.00			\$19.00
MXFPSC30 (Part) · Main (Archived) GREASE PRECISION TUBE	1 tube \$6.90			\$6.90
DESCRIPTION		SUMMARY	81 8 7 8 8 9 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8	TOTAL TOTAL TO SERVICE AND THE
		Subtotal		\$1,523.27
		Labor		\$294.57
		Parts		\$1,228.70
		Labor Markup		+ \$0.00 (0.0%)
		Parts Markup		+ \$0.00 (0.0%)
		Warranty Credits		- \$0.00 (Fixed)
		Discount		- \$0.00 (0.0%)
		Tax		+\$0.00 (0.0%)
		Total		\$1,523.27
RESOLVED ISSUES(not linked to a Service Task)				
Issue			A	ssigned Due
#6704 Scales on pup going on and off, not fixed Reported Jan 18, 2024 by Heinz Zier				
#6767 [Inspection] Coolant leaking from the rad area Reported over 1 year ago by Roper Gorgichuk • Truck Preventative Ma	intenance	Checklist by Roper Gorai	chuk	

Reported over 1 year ago by Roper Gorgichuk • Truck Preventative Maintenance Checklist by Roper Gorgichuk Generated by the failed inspection item "Coolant Level" on the "Truck Preventative Maintenance Checklist" form submitted by Roper Gorgichuk on Jan 23, 2024 at 1:26 PM MST



#3718

WORK ORDER

WORK ORDER DETAILS

Issue Date: Tue, Mar 26, 2024

2:28 PM

Scheduled Start Date:

Actual Start Date: Tue, Mar 26, 2024

2:28 PM

2 days

Completed

JOE NEMEC

Expected Completion Date:

Actual Completion Date: Thu, Mar 28, 2024

Duration:

Repair Priority Class: Scheduled

Status:

Issued By: Assigned to:

Vendor:

Labels:

#30

2016 Kenworth W900

VIN/SN:

License Plate:

Operator:

Type: Group:

Odometer:

Secondary Meter:

Heinz Zier

1XKWD40X2GR983194

Tandem

935,541km 23,722hr

Item	1		Labor	Parts	Subtotal
٩	engine heater repair Diagnosis and repair engine heater.		\$74.00	\$25.98	\$99.98
	Roper Gorgichuk (Contact) Rebuilt engine heater with a different fan	2 hrs \$37.00			\$74.00
	PWR20.1820.99.0001.0A (Part) · Main ESPAR FAN GASKET	1 ea \$25.98			\$25.98
٩	Truck Preventative Maintenance Inspection		\$13.75	\$0.00	\$13.75
	Chad Caouette (Contact)	0.5 hrs \$27.50			\$13.75
	→ Engine Oil & Filter Replacement		\$7.60	\$360.98	\$368.58
	Ross Cowell (Contact)	0.2 hrs \$38.00			\$7.60
	NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$57.40			\$57.40



1	Labor	Parts	Subtotal
■ MXF5W40 (Part) · Main 43 L ENGINE OIL 5W40 BULK \$7.06			\$303.58
Air System Leaks Check air system for leaks. Check airlines and connections for signs of wear- that could become a problem even if not currently leaking. Remember to check for leaks with lines in an air up state ie. airbags inflated, button pushed in and brake applied to check service brake leaks.	\$3.80	\$0.00	\$3.80
Ross Cowell (Contact) 0.1 hrs \$38.00			\$3.80
→ Check Diff and Trans Oil	\$7.60	\$0.00	\$7.60
Ross Cowell (Contact) 0.2 hrs \$38.00			\$7.60
Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check for secure mounting and any signs of wear. Check pintle hitch for free movement of lock and no slack shoe operation. Check fifth wheel for proper jaw adjustment and apply either grease or graphite lube depending on fifth wheel style.	\$82.50	\$631.75	\$714.25
Chad Caouette (Contact) 3 hrs Prebuilt fithwheel jaws \$27.50			\$82.50
SAFRK351AL (Part) · Main 1 ea JAW KIT \$631.75			\$631.75
Tire Condition and Pressure Inspection Check all tires	\$6.75	\$0.00	\$6.75
Allan Bates (Contact) 0.25 hrs \$27.00			\$6.75
Torque Wheels Verify wheels are properly torqued	\$6.88	\$0.00	\$6.88
Chad Caouette (Contact) Chad Caouette (Contact) Contact Contact			\$6.88
→ Walk Around Inspection	\$22.50	\$0.00	\$22.50
≥ JOE NEMEC (Contact) 0.25 hrs \$90.00			\$22.50
Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering linkage.	\$3.80	\$0.00	\$3.80
Ross Cowell (Contact) 0.1 hrs \$38.00			\$3.80



Item

SUMMARY

Subtotal	\$1,247.89
Labor	\$229.18
Parts	\$1,018.71
Labor Markup	+ \$0.00 (0.0%)
Parts Markup	+ \$0.00 (0.0%)
Warranty Credits	- \$0.00 (0.0%)
Discount	- \$0.00 (0.0%)
Tax	+\$0.00 (0.0%)
Total	\$1,247.89

RESOLVED ISSUES(not linked to a Service Task)

Issue Assigned Due

#7409 Pro heater not working shows F 30 on the screen Reported Mar 25, 2024 by Heinz Zier



CX Energy Services PO Box 3450, 74028 RR 174, 74028 RR 174 High Prairie, AB, TOG 1E0 CA 7805230245

Work Order Number: Invoice Number: PO Number:

#3984

WORK ORDER

WORK ORDER DETAILS

Issue Date: Tue, May 7, 2024

10:36 AM

Scheduled Start Date:

Tue, May 7, 2024 10:37 AM

1 day

Scheduled

Completed

JOE NEMEC

Wed, May 8, 2024

Expected Completion Date:

Actual Completion Date:

Duration:

Actual Start Date:

Repair Priority Class:

Status:

Issued By:

Assigned to:

Vendor:

Labels:

#30

2016 Kenworth W900

VIN/SN:

License Plate:

Operator:

Type:

Group:

Odometer:

Secondary Meter:

1XKWD40X2GR983194

Tandem

Heinz Zier

960,155km 24,140hr

Item)			Labor	Parts	Subtotal
	A:-	Look at Air Davis		4	.	•
٩	All	Leak at Air Dryer		\$18.50	\$16.58	\$35.08
	٥	Roper Gorgichuk (Contact)	0.5 hrs			\$18.50
			\$37.00			4.0.00
	쭚	GWK5009233BXW (Part) · Main	1 ea			\$16.58
		KIT-BOLT AD-IS AIR DRYER	\$16.58			
4	Ste	er Tire Replacement		\$27.00	\$700.00	\$727.00
•		·		Q27.00	Q700.00	Q727.00
	2	Allan Bates (Contact)	1 hr			\$27.00
			\$27.00			7-1-1-1
		CXEXZE2 (Part) · Main				.
	00	STEER TIRES 11R 24.5	2 ea			\$700.00
		SIEER TIRES FIR 24.5	\$350.00			
4	driv	ers side stack bushing		\$9.00	\$59.79	\$68.79
	٩	Ernesto Ablog (Contact)	0.25 hrs			\$9.00
		Replaced bushings	\$36.00			Q9.00
		GWKEM75-69000HTATR (Part) · Main				
	۵Ġ	EXHAUST MOUNT BUSHING	1 ea			\$38.64
		EVUMOST MODINT BOSHING	\$38.64			



il Cit	n			Labor	Parts	Subtotal
						\$21.15
		EXHAUST MOUNT BUSHING	1 ea			
			\$21.15			
٩	Driv	ve Axle Brakes		\$92.00	\$843.20	\$935.20
	å	Chad Caouette (Contact)	2 hrs			\$55.00
		removed and replaced drive axel brakes	\$27.50			
	٩	Roper Gorgichuk (Contact)	1 hr			\$37.00
	_	, ,	\$37.00			*****
	設	FGRXSS504709E2K (Part) · Main	4 ea			\$263.20
		BRAKE SHOE DRIVE16.5X	\$65.80			
	器	GWKDB1657B (Part) · Main	4 ea			¢500.00
	80	BRAKE DRUM 16.5 X 7 S/AS GWK16792X	4 ea \$145.00			\$580.00
		SINNE STOM TO SAT SATISFACTORY	\$140.00			
٩	P\$	windshield		\$45.00	\$54.95	\$99.95
	۵	JOE NEMEC (Contact)	0.5 hrs			\$45.00
			\$90.00			
	먎	GWKDW1163-30 (Part) · Main	1 ea			\$54.95
	00	WINDSHIELD, PS	\$54.95			\$54.95
			Q0 1.50			
4	A2	Torque Rods		\$82.50	\$167.00	\$249.50
	2	Chad Caouette (Contact)				\$82.50
		·	3 hrs			*
		Preplaced torque rod bushings	3 hrs \$27.50			*
	Бф	自 replaced torque rod bushings	\$27.50			
	日本	自 replaced torque rod bushings FGRTRB6825 (Part) · Main	\$27.50 4 ea			\$167.00
	9 0	自 replaced torque rod bushings	\$27.50			
4		自 replaced torque rod bushings FGRTRB6825 (Part) · Main	\$27.50 4 ea	\$133.00	\$83.66	
4		FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE	\$27.50 4 ea	\$133.00	\$83.66	\$167.00
٩	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installe	\$27.50 4 ea \$41.75 ed fuel pump and torqued	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installed bolts to 60 lbs and bracket bolts to 45 lbs, replaced to	\$27.50 4 ea \$41.75 ed fuel pump and torqued	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installe	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installed bolts to 60 lbs and bracket bolts to 45 lbs, replaced to	\$27.50 4 ea \$41.75 ed fuel pump and torqued ruel pump gasket, sealing 3.5 hrs	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installed bolts to 60 lbs and bracket bolts to 45 lbs, replaced to	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE EI Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installed bolts to 60 lbs and bracket bolts to 45 lbs, replaced to washers and power steering gasket.	\$27.50 4 ea \$41.75 ed fuel pump and torqued ruel pump gasket, sealing 3.5 hrs	\$133.00	\$83.66	\$167.00 \$216.66
4	Fue	E replaced torque rod bushings FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE EI Pump Gasket MICHAEL ABLOG (Contact) E removed fuel pump to inspect and clean, installed bolts to 60 lbs and bracket bolts to 45 lbs, replaced to washers and power steering gasket.	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00
4	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) Peremoved fuel pump to inspect and clean, installed bolts to 60lbs and bracket bolts to 45lbs, replaced to washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET	\$27.50 4 ea \$41.75 ed fuel pump and torqued ruel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00
4	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) Peremoved fuel pump to inspect and clean. installe bolts to 60lbs and bracket bolts to 45lbs. replaced to washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET GWK4988280 (Part) · Main	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81 1 ea	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00
•	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) Peremoved fuel pump to inspect and clean, installed bolts to 60lbs and bracket bolts to 45lbs, replaced to washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET	\$27.50 4 ea \$41.75 ed fuel pump and torqued ruel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00 \$35.81
•	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) Peremoved fuel pump to inspect and clean. installed bolts to 60lbs and bracket bolts to 45lbs. replaced it washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET GWK4988280 (Part) · Main GASKET POWER STEERING	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81 1 ea \$5.33	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00 \$35.81 \$5.33
•	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) Peremoved fuel pump to inspect and clean. installed bolts to 60lbs and bracket bolts to 45lbs. replaced it washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET GWK4988280 (Part) · Main GASKET POWER STEERING	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81 1 ea	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00 \$35.81
•	Fuel control of the c	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) removed fuel pump to inspect and clean. installed bolts to 60lbs and bracket bolts to 45lbs. replaced for washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET GWK4988280 (Part) · Main GASKET POWER STEERING GWK3963991CUM (Part) · Main RUBBER LINED WASHER	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81 1 ea \$5.33	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00 \$35.81 \$5.33
•	Fue	FGRTRB6825 (Part) · Main V-ROD BUSHING TORQUE Pump Gasket MICHAEL ABLOG (Contact) removed fuel pump to inspect and clean, installed bolts to 60lbs and bracket bolts to 45lbs, replaced for washers and power steering gasket. GWK5414049 (Part) · Main FUEL PUMP GASKET GWK4988280 (Part) · Main GASKET POWER STEERING GWK3963991CUM (Part) · Main	\$27.50 4 ea \$41.75 ed fuel pump and torqued fuel pump gasket, sealing 3.5 hrs \$38.00 1 ea \$35.81 1 ea \$5.33	\$133.00	\$83.66	\$167.00 \$216.66 \$133.00 \$35.81 \$5.33



Item		Labor	Parts	Subtotal
GWK3963988 (Part) · Main WASHER RUBBER LINED	4 ea \$4.68			\$18.72
Truck Preventative Maintenance Inspection		\$63.00	\$0.00	\$63.00
∠ JOE NEMEC (Contact)	0.7 hrs \$90.00			\$63.00
CVIP		\$90.00	\$0.00	\$90.00
♣ JOE NEMEC (Contact)	1 hr \$90.00			\$90.00
டி Engine Oil & Filter Replacement		\$9.00	\$229.59	\$238.59
Kurt Kerekanich (Contact)	0.25 hrs \$36.00			\$9.00
NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$58.65			\$58.65
MXF15W40 (Part) · Main ENGINE OIL, 15W40 BUL	42 L \$4.07			\$170.94
Air System Leaks Check air system for leaks. Check airlines and connections that could become a problem even if not currently leaking check for leaks with lines in an air up state ie. airbags inflat in and brake applied to check service brake leaks.	. Remember to	\$6.88	\$0.00	\$6.88
Chad Caouette (Contact)	0.25 hrs \$27.50			\$6.88
→ Check Diff and Trans Oil		\$6.88	\$0.00	\$6.88
Chad Caouette (Contact)	0.25 hrs \$27.50			\$6.88
Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check for and any signs of wear. Check pintle hitch for free moveme slack shoe operation. Check fifth wheel for proper jaw adjustither grease or graphite lube depending on fifth wheel sty	ent of lock and no ustment and apply	\$6.88	\$0.00	\$6.88
Chad Caouette (Contact)	0.25 hrs \$27.50			\$6.88
		\$6.75	\$0.00	\$6.75
Allan Bates (Contact)	0.25 hrs \$27.00			\$6.75
Solution Torque Wheels Verify wheels are properly torqued		\$22.50	\$0.00	\$22.50



Item	l			Labor	Parts	Subtotal
	2	JOE NEMEC (Contact)	0.25 hrs \$90.00			\$22.50
	Ļ	Walk Around Inspection		\$22.50	\$0.00	\$22.50
	2	JOE NEMEC (Contact)	0.25 hrs \$90.00			\$22.50
		Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering f	inkage.	\$6.88	\$6.90	\$13.78
	2	Chad Caouette (Contact)	0.25 hrs \$27.50			\$6.88
		MXFPSC30 (Part) · Main (Archived) GREASE PRECISION TUBE	1 tube \$6.90			\$6.90
٩		ink straps traps billed direct to unit		\$137.50	\$0.00	\$137.50
	<u>.</u>	Chad Caouette (Contact) all four airtank straps are rusted and broken and pin are se had to cut pins out and weld bracket replaced all four straps a				\$137.50
			5 hrs \$27.50			
٩	teflo	ne plate on 5 th wheel		\$34.38	\$366.90	\$401.28
	2	Chad Caouette (Contact) Preplaced wear plate	1.25 hrs \$27.50			\$34.38
		SAFRK3311 (Part) · Main TEFLON PLATE KIT	1 ea \$366.90			\$366.90
DESCI	RIPTIO	DN .	•	SUMMARY		
				Subtotal		\$3,348.72
				Labor		\$820.15
				Parts		\$2,528.57
				Labor Markup		+ \$0.00 (0.0%)
				Parts Markup		+ \$0.00 (0.0%)
				Warranty Credits		- \$0.00 (0.0%)
				Discount		- \$0.00 (0.0%)
				Тах		+\$0.00 (0.0%)
				Total		\$3,348.72



Issue Assigned Due

#7835 [Inspection] Cab Air Filter

Reported over 1 year ago by JOE NEMEC • Truck Preventative Maintenance Checklist by JOE NEMEC Generated by the failed inspection item "Cab Air Filter" on the "Truck Preventative Maintenance Checklist" form submitted by JOE NEMEC on May 7, 2024 at 11:26 AM MDT



#4747

WORK ORDER

WORK ORDER DETAILS

Issue Date: Tue, Sep 10, 2024

10:20 AM

#30

2016 Kenworth W900

Scheduled Start Date:

Tue, Sep 10, 2024

License Plate:

VIN/SN:

1XKWD40X2GR983194

Actual Start Date:

10:21 AM

Operator:

Heinz Zier

Expected Completion Date:

Thu, Sep 12, 2024

Type:

Tandem

Actual Completion Date:

Group:

Duration:

2 days

Odometer: Secondary Meter: 1,024,661km 25,331hr

Repair Priority Class:

Scheduled

Status:

Completed

Issued By:

JOE NEMEC

Assigned to:

Vendor:

Labels:

Item				l abou	Done	0. 54-4-1
item.	II			Labor	Parts	Subtotal
٩		breather replacement diff breather		\$9.25	\$11.30	\$20.55
	•	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9.25
		FGRKIT2902 (Part) · Main BREATHER & TUBE KIT,	1 ea \$11.30			\$11.30
٩	Tru	ck Preventative Maintenance Inspection		\$37.00	\$0.00	\$37.00
	ě	Roper Gorgichuk (Contact)	1 hr \$37.00			\$37.00
٩	Inst	all Dash Camera		\$18.50	\$544.40	\$562.90
	2	Roper Gorgichuk (Contact)	0.5 hrs \$37.00			\$18.50
		010-02619-00 (Part) · Main Garmin Dash Cam Live	1 ea \$539.99			\$539.99



Iten	n		Labor	Parts	Subtotal
	YPSPIB3922-11 (Part)・Main ADAPTER PLUG 12V FEMA	1 ea \$4.41			\$4.41
4	Power Steering Leak Repair		\$6.75	\$12.62	\$19.37
	Allan Bates (Contact) Replaced line	0.25 hrs \$27.00			\$6.75
	HPTG643-075 (Part) · Main HYDRAULIC HOSE, 3/4	2 in \$6.31			\$12.62
	#9349 · [Inspection] Return line on power steering Generated by the failed inspection item "Power Steering Lo Gorgichuk on Sep 10, 2024 at 2:44 PM MDT		ive Maintenance Ch	ecklist" form submitt	ed by Roper
٩	A3 Input U-Joints		\$9.25	\$0.00	\$9.25
	Roper Gorgichuk (Contact) Pinged the strap with lock tite	0.25 hrs \$37.00			\$9.25
	#9350 · [Inspection] A3 input u-joint cap sipping in Generated by the failed inspection item "Driveline and Stea Roper Gorgichuk on Sep 10, 2024 at 2:44 PM MDT		eventative Maintena	ance Checklist* form	submitted by
٩	A1 LHS Shock		\$6.75	\$76.45	\$83.20
	Allan Bates (Contact)	0.25 hrs \$27.00			\$6.75
	MON65405 (Part) · Main SHOCK STEER W900 S/AS	1 ea \$76.45			\$76.45
4	Exhaust Leak Repair		\$37.00	\$38.78	\$75.78
	Roper Gorgichuk (Contact) Replaced gaskets on elbow going from the down pipe	e to the dpf can			\$37.00
		1 hr \$37.00			
	GWK2866337CUM (Part) · Main EXHAUST GASKET 5" CIR	1 ea \$18.67			\$18.67
	FGRJ0090056 (Part) · Main (Archived) CLAMP 2" FORMED EXHAU	1 ea \$1.00			\$1.00
	GWK2866636CUM (Part) · Main EXHAUST GASKET 4°	1 ea \$19.11			\$19.11
	□ Engine Oil & Filter Replacement		\$6.75	\$229.59	\$236.34
	Allan Bates (Contact)	0.25 hrs \$27.00			\$6.75
	NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$58.65			\$58.65



Item			Labor	Parts	Subtotal
	RS MXF15W40 (Part) · Main	42 L			\$170.94
	ENGINE OIL, 15W40 BUL	\$4.07			\$170.94
	 Air System Leaks Check air system for leaks. Check airlines and connection 	o for ciana of waar	\$9.25	\$0.00	\$9.25
	that could become a problem even if not currently leaking.	-			
	check for leaks with lines in an air up state ie. airbags inflat				
	in and brake applied to check service brake leaks.				
	Roper Gorgichuk (Contact)	0.25 hrs			\$9.25
	Z vispoi ou gionali (comasi)	\$37.00			Ψ
	→ Check Diff and Trans Oil		\$6.75	\$0.00	\$6.75
	Allan Bates (Contact)	0.25 hrs			\$6.75
		\$27.00			40.70
	→ Inspect and Service Trailer Hitch		\$9.25	\$0.00	\$9.25
	Inspect hitch whether it is a pintle or a fifth wheel. Check f and any signs of wear. Check pintle hitch for free moveme				
	slack shoe operation. Check fifth wheel for proper jaw adj				
	either grease or graphite lube depending on fifth wheel st				
	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9.25
		\$37.00			
	→ Tire Condition and Pressure Inspection		\$6.75	\$0.00	\$6.75
	Check all tires				
	Allan Bates (Contact)	0.25 hrs			66.75
	And it bates (Contact)	\$27.00			\$6.75
		42			
	#9339 · Needs drive tires				
	#9246 · Needs drive tires				
	→ Torque Wheels		\$6.75	\$0.00	\$6.75
	Verify wheels are properly torqued				
	Allon Roton (Contest)	0.05 +			A4 75
	Allan Bates (Contact)	0.25 hrs \$27.00			\$6.75
		4200			
	나 Walk Around Inspection		\$22.50	\$0.00	\$22.50
	0 IOF NEMEO (O - MAN)	2.05.			
	▲ JOE NEMEC (Contact)	0.25 hrs \$90.00			\$22.50
		\$30.00			
	Grease Unit		\$6.75	\$0.00	\$6.75
	Grease all grease points on unit, ie. u-joints, s-cams, steeri	ng linkage.			
	Allan Bates (Contact)	0.25 hrs			\$6.75
		\$27.00			30.73
٩	ABS Repair		\$46.25	\$0.00	\$46.25
	Roper Gorgichuk (Contact)	1.25 hrs			\$46.25
	E Fixed wiring issue	\$37.00			J40.23



ltem			Labor	Parts	Subtotal
•	#9190 · ABS warning light on for truck and trailer				
4 re	place shifter boot		\$9.25	\$129.88	\$139.13
.	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9,25
96	GWKK042-79 (Part) · Main SHIFTER BOOT UPPER	1 ea \$129.88			\$129.88
•	#9191 · Rubber boot for the bottom of shifter				
DESCRIPTION		SUMM	IARY		
		Subto	tal		\$1,297.77
		Labo	DF		\$254.75
		Part	s		\$1,043.02



#4837

WORK ORDER

WORK ORDER DETAILS

Issue Date:

Mon, Sep 30, 2024

3:43 PM

#30

2016 Kenworth W900

Scheduled Start Date:

Mon, Sep 30, 2024

3:44 PM

VIN/SN: License Plate: 1XKWD40X2GR983194

Actual Start Date:

Mon, Sep 30, 2024

3:45 PM

Operator:

Heinz Zier

Type: Group:

Tandem

Expected Completion Date: Actual Completion Date:

Tue, Oct 1, 2024

Odometer:

Duration:

1 day

Repair Priority Class:

Scheduled

Status:

Completed

Issued By:

Ernesto Ablog

Assigned to:

Vendor:

Labels:

Secondary Meter:

1,035,224km 25,519hr

Iten	1		Labor	Parts	Subtotal
٩	Install Dash Camera		\$0.00	\$539.99	\$539.99
	Roper Gorgichuk (Contact) S/N 779004492	0 hrs \$37.00			\$0.00
	010-02619-00 (Part) · Main Garmin Dash Cam Live	1 ea \$539.99			\$539.99
٩	Truck Preventative Maintenance Inspection		\$27.00	\$7.14	\$34.14
	Ernesto Ablog (Contact)	0.75 hrs \$36.00			\$27.00
	MNACHV255675-448 (Part) · Main AW32 HYDRAULIC OIL	2 L \$3.57			\$7.14
٩	Winter Front Clip Lhs		\$36.00	\$25.53	\$61.53
	Kurt Kerekanich (Contact)	1 hr \$36.00			\$36,00



lten	1		Labor	Parts	Subtotal
	GWK75700AU0 (Part) Main WINTERFRONT TWIST BUT	1 Pac \$25.53			\$25.53
٩	Top up hydraulic oil		\$5.55	\$0.00	\$5.55
	Roper Gorgichuk (Contact)	0.15 hrs \$37.00			\$5.55
٩	Exhaust Clamp Between Stack		\$9.00	\$0.00	\$9.00
	Kurt Kerekanich (Contact) Tightened clamps	0.25 hrs \$36.00			\$9.00
٩	fuel filters replacement		\$18.00	\$108.27	\$126.27
	Ernesto Ablog (Contact)	0.5 hrs \$36.00			\$18.00
	BALDF46081 (Part) · Main BALDWIN FUEL FILTER	1 ea \$43.96			\$43.96
	NTXDBF6776 (Part) · Main FUEL FILTER SPIN ON S/AS BF46129	1 ea \$64.31			\$64.31
٩	ac and fan belt worn out		\$9.00	\$140.90	\$149.90
	Ernesto Ablog (Contact)	0.25 hrs \$36.00			\$9.00
	GWK5060640 (Part) · Main A/C BELT	1 ea \$42.73			\$42.73
	VPS4120910X (Part) · Main CONTINENTAL XTREME HD BELT	1 ea \$98.17			\$98.17
	→ Engine Oil & Filter Replacement		\$9.00	\$241.80	\$250.80
	Ernesto Ablog (Contact)	0.25 hrs \$36.00			\$9.00
	NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$58.65			\$58.65
	開始 MXF15W40 (Part)・Main ENGINE OIL, 15W40 BUL	45 L \$4.07			\$183.15
	Air System Leaks Check air system for leaks. Check airlines and connections that could become a problem even if not currently leaking. For check for leaks with lines in an air up state ie, airbags inflated in and brake applied to check service brake leaks.	Remember to	\$9.25	\$0.00	\$9.25
	Roper Gorgichuk (Contact)	0.25 hrs \$37.00			\$9.25
	→ Check Diff and Trans Oil		\$9.00	\$0.00	\$9.00



Item		L.abor	Parts	Subtotal
Kurt Kerekanich (Contact)	0.25 hrs \$36.00			\$9.00
Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check for secure mand any signs of wear. Check pintle hitch for free movement of lock a slack shoe operation. Check fifth wheel for proper jaw adjustment are either grease or graphite lube depending on fifth wheel style.	ind no	\$7.20	\$0.00	\$7.20
Ernesto Ablog (Contact)	0.2 hrs \$36.00			\$7.20
Tire Condition and Pressure Inspection Check all tires		\$13.50	\$0.00	\$13.50
Allan Bates (Contact)	0.5 hrs \$27,00			\$13.50
→ Torque Wheels Verify wheels are properly torqued		\$9.00	\$0.00	\$9.00
Ernesto Ablog (Contact)	0.25 hrs \$36.00			\$9.00
→ Walk Around Inspection		\$22.50	\$0.00	\$22.50
JOE NEMEC (Contact)	0.25 hrs \$90.00			\$22.50
Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering linkage.		\$6.00	\$4.67	\$10.67
Rickylynn Peters (Contact)	0.25 hrs \$24.00			\$6.00
MNACHV259118-652 (Part) · Main STARPLEX EP2 TUBE Summer Grease	1 ea \$4.67			\$4.67
DESCRIPTION		SUMMARY		
		Subtotal		\$1,258.30
		Labor		\$190.00
		Parts		\$1,068.30
		Labor Markup		+ \$0.00 (0.0%)
		Parts Markup		+ \$0.00 (0.0%)
		Warranty Credits		- \$0.00 (Fixed)
		Discount		- \$0.00 (0.0%)
		Tax		+\$0.00 (0.0%)
		Total		\$1,258.30



Issue		Assigned	Due
#9340	Phone booster Reported Sep 9, 2024 by Heinz Zier		
#9432	No power to the touch screen or am fm radio Reported Sep 17, 2024 by Heinz Zier		
#9192	Need a phone booster Reported Aug 28, 2024 by Heinz Zier		
#9547	Driver side windshield took a rock Reported Sep 23, 2024 by Heinz Zier		
#9638	[Inspection] Winter Front Clips Reported 10 months ago by Emesto Ablog • Truck Preventative Maintenance Checklist by Ernesto Ablog Generated by the failed inspection item "Winter Front Clips" on the "Truck Preventative Maintenance Checklist" form submitted by Ernesto Ablog on Sep 30, 2024 at 4:16 PM MDT		
#9637	[Inspection] A2 both shocks leaking Reported 10 months ago by Emesto Ablog • Truck Preventative Maintenance Checklist by Emesto Ablog Generated by the failed inspection item "Shocks" on the "Truck Preventative Maintenance Checklist" form submitted by Ernesto Ablog on Sep 30, 2024 at 4:16 PM MDT		
#9636	[Inspection] Hydraulic Oil Level Reported 10 months ago by Emesto Ablog • Truck Preventative Maintenance Checklist by Ernesto Ablog Generated by the failed inspection item "Hydraulic Oil Level" on the "Truck Preventative Maintenance Checklist" form submitted by Ernesto Ablog on Sep 30, 2024 at 4:16 PM MDT		



#5127

WORK ORDER

WORK ORDER DETAILS

Issue Date:

Tue, Nov 12, 2024

7:11 AM

#30

2016 Kenworth W900

Scheduled Start Date:

Tue, Nov 12, 2024

VIN/SN: License Plate: 1XKWD40X2GR983194

Actual Start Date:

7:11 AM

Expected Completion Date:

Operator:

Heinz Zier

Actual Completion Date:

Thu, Nov 14, 2024

Type: Group: Tandem

25,904hr

Duration:

2 days

Odometer:

Secondary Meter:

1,056,128km

Repair Priority Class:

Scheduled

Status:

Completed

Issued By:

JOE NEMEC

Assigned to:

Vendor:

Labels:

LINE ITEMS

Iten	า		Labor	Parts	Subtotal
٩	Clutch Brake Replacement		\$47.50	\$37.00	\$84.50
	MICHAEL ABLOG (Contact) Perplaced with 2pc clutch brake	1.25 hrs \$38.00			\$47.50
	FGRMAFB201 (Part) · Main CLUTCH BRAKE 2 PIECE	1 ea \$37.00			\$37.00

#10139 · [Inspection] 1 piece clutch brake worn out Generated by the failed inspection item "Clutch Brake Condition" on the "Truck Preventative Maintenance Checklist" form submitted by MICHAEL ABLOG on Nov 12, 2024 at 7:48 AM MST

	WIND IN CENTRED ON NOT 12, 2024 Bt 7.40 AW WIST				
٩	Truck Preventative Maintenance Inspection		\$19.00	\$0.00	\$19.00
	MICHAEL ABLOG (Contact)	0.5 hrs \$38.00			\$19.00
٩	Air Filters Replacement		\$19.00	\$208.76	\$227.76
	MICHAEL ABLOG (Contact)	0.5 hrs \$38.00			\$19.00



Item	า		Labor	Parts	Subtotal
	NTXP625128 (Part) · Main AIR FILTER W900	2 ea \$104.38			\$208.76
4	Coolant Leaks Repair		\$19.00	\$13.08	\$32.08
	Joseph Pitney (Contact)	0.5 hrs \$38.00			\$19.00
	GWKCT300LTRP (Part) · Main CONSTANT TORQUE CLAMP	1 ea \$13.08			\$13.08
4	Back Up Alarm Repair		\$9.50	\$40.90	\$50.40
	Joseph Pitney (Contact)	0.25 hrs \$38.00			\$9.50
	FGR73090 (Part) · Main BACK UP ALARM 107DB S/AS FGR575	1 ea \$40.90			\$40.90
	#10140 · [Inspection] Back up alarm Generated by the failed inspection item "Back up alarm" on ABLOG on Nov 12, 2024 at 7:48 AM MST	the "Truck Preventative Ma	intenance Checklist	form submitted by I	MICHAEL
٩	Ziptie Wires & Air lines		\$9.50	\$0.00	\$9.50
	MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
	→ Engine Oil & Filter Replacement		\$9.50	\$379.05	\$388.55
	MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
	MXF5W40 (Part)・Main ENGINE OIL 5W40 BULK	45 L \$7.12			\$320.40
	NXTDBL7900 (Part)· Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$58.65			\$58.65
	Air System Leaks Check air system for leaks. Check airlines and connections that could become a problem even if not currently leaking. check for leaks with lines in an air up state ie. airbags inflate in and brake applied to check service brake leaks.	Remember to	\$9.50	\$0.00	\$9.50
	MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
	→ Check Diff and Trans Oil		\$9.50	\$0.00	\$9.50
	Joseph Pitney (Contact)	0.25 hrs \$38.00			\$9.50



Item		Labor	Parts	Subtotal
Inspect and Service Trailer Hitch Inspect hitch whether it is a pintle or a fifth wheel. Check for secure n and any signs of wear. Check pintle hitch for free movement of lock a slack shoe operation. Check fifth wheel for proper jaw adjustment ar either grease or graphite lube depending on fifth wheel style.	and no	\$9.50	\$0.00	\$9.50
MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
		\$84.00	\$3,472.00	\$3,556.00
2 Jayden Binet (Contact)	3.5 hrs \$24.00			\$84.00
KALDT890 (Part) · Main ROAD X DRIVE TIRES 11R 245	8 ea \$434.00			\$3,472.00
Verify wheels are properly torqued		\$9.50	\$0.00	\$9.50
Joseph Pitney (Contact)	0.25 hrs \$38.00			\$9.50
→ Walk Around Inspection		\$9.50	\$0.00	\$9.50
MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering linkage.		\$19.00	\$0.00	\$19.00
Joseph Pitney (Contact)	0.5 hrs \$38.00			\$19.00
DESCRIPTION		SUMMARY		
		Subtotal		\$4,434.29
		Labor		\$283.50
		Parts		\$4,150.79
		Labor Markup		+ \$0.00 (0.0%)
		Parts Markup		+ \$0.00 (0.0%)
		Warranty Credits		- \$0.00 (0.0%)
		Discount		- \$0.00 (0.0%)
		Tax		+\$0.00 (0.0%)
		Total		\$4,434.29



Issue		Assigned	Due
#10133	Anti-freeze leak Reported Nov 11, 2024 by Heinz Zier		
#10135	There is a vibration on the front end , starts to shake and then stops as fast as it starts Reported Nov 11, 2024 by Heinz Zier		
#10134	Hydraulic leak Reported Nov 11, 2024 by Heinz Zier		



CX Energy Services PO Box 3450, 74028 RR 174, 74028 RR 174 High Prairie, AB, T0G 1E0 CA 7805230245

Work Order Number: Invoice Number: PO Number:

#5285

WORK ORDER

WORK ORDER DETAILS

Issue Date:

Mon, Dec 2, 2024

3:15 PM

Scheduled Start Date:

Actual Start Date:

Mon, Dec 2, 2024

Tue, Dec 3, 2024

3:15 PM

1 day

Scheduled

Completed

JOE NEMEC

Expected Completion Date:

Actual Completion Date:

Duration:

Repair Priority Class:

Status:

Issued By:

Assigned to:

Vendor: Labels:

#30

2016 Kenworth W900

VIN/SN:

License Plate:

Operator:

Type: Group:

Odometer: Secondary Meter: 1,066,044km

Heinz Zier

Tandem

1XKWD40X2GR983194

26,176hr

LINE ITEMS

Item Labor **Parts** Subtotal **ABS Repair** \$57.00 \$190.70 \$247.70 **B** A3LH Ernesto Ablog (Contact) 1.5 hrs \$57.00 Replaced both abs sensor A3 \$38.00 **哈** FGR4410309102 (Part) · Main 2 ea \$190.70 ABS SENSOR KIT, 90 DE \$95.35 #10370 · Abs warning lights on truck and trailer Truck Preventative Maintenance Inspection \$19.00 \$0.00 \$19.00 MICHAEL ABLOG (Contact) 0.5 hrs \$19.00 \$38.00 Fuel Tank Breather Repair \$6.25 \$0.00 \$6.25 Rickylynn Peters (Contact) 0.25 hrs \$6.25 Cleaned breather hose on both sides. \$25.00

#10371 · Vent line frozen or plugged on fuel tanks



Item	Item			Labor	Parts	Subtotal
4	Air D	Pryer Purge Valve Replacement		\$25.00	\$147.74	\$172.74
	•	Rickylynn Peters (Contact) Part # K022105	1 hr \$25.00			\$25.00
		BENK022105 (Part) · Main AD-IP VALVE PURGE	1 ea \$147.74			\$147.74
		#10397 · [Inspection] Air dryer purge valve Generated by the failed inspection item "Air Dryer Condition" on th ABLOG on Dec 2, 2024 at 4:02 PM MST	e "Truck Preventati	ve Maintenance Chec	cklist" form submitted	d by MICHAEL
٩	Batte	ery 2 wing nut missing		\$3.80	\$69.56	\$73.36
	&	MICHAEL ABLOG (Contact)	0.1 hrs \$38.00			\$3.80
		GWKHWC09341 (Part) · Main WINGED STUD, BATTERY	2 ea \$21.66			\$43.32
		FGRM593674 (Part) · Main BATTERY BOX WASHER	2 ea \$13.12			\$26.24
٩	Engi	ne shutdown not working		\$19.00	\$90.28	\$109.28
	2	Ernesto Ablog (Contact) B Replaced solenoid	0.5 hrs \$38.00			\$19.00
		GWKBA12450 (Part) · Main VALVE SOLENOID ENG SH	1 ea \$90.28			\$90.28
	Ļ	Engine Oil & Filter Replacement		\$9.50	\$379.05	\$388.55
	<u> </u>	MICHAEL ABLOG (Contact) 45Ltrs. 5w40, 7900	0.25 hrs \$38.00			\$9.50
		NXTDBL7900 (Part) · Main OIL FILTER HIGH EFFICIENCY S/AS BD50000	1 ea \$58.65			\$58.65
	20	MXF5W40 (Part) · Main ENGINE OIL 5W40 BULK	45 L \$7.12			\$320.40
	;	Air System Leaks Check air system for leaks. Check airlines and connections for signs of we that could become a problem even if not currently leaking. Remember to check for leaks with lines in an air up state ie. airbags inflated, button push in and brake applied to check service brake leaks.		\$12.50	\$40.79	\$53.29
	•	Rickylynn Peters (Contact) © G50-4064-04-016 replaced main line from compressor.	0.5 hrs \$25.00			\$12.50
		GWKG50-1064-04-016 (Part) · Main UNLOADER HOSE ASSEMBLY S/AS K342-255-016	1 ea \$40.79			\$40.79
	Ļ (Check Diff and Trans Oil		\$6.25	\$11.30	\$17.55



Item			Labor	Parts	Subtotal
9	Rickylynn Peters (Contact) Installed new diff breather on A2 Part # 2902	0.25 hrs \$25.00			\$6.25
	FGRKIT2902 (Part) · Main BREATHER & TUBE KIT,	1 ea \$11.30			\$11.30
 	nspect and Service Trailer Hitch nspect hitch whether it is a pintle or a fifth wheel. Check for secure i and any signs of wear. Check pintle hitch for free movement of lock slack shoe operation. Check fifth wheel for proper jaw adjustment a either grease or graphite lube depending on fifth wheel style.	and no	\$9.50	\$0.00	\$9.50
۵	MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
	Fire Condition and Pressure Inspection Check all tires		\$7.25	\$0.00	\$7.25
2	Allan Bates (Contact)	0.25 hrs \$29.00			\$7.25
	Forque Wheels /erify wheels are properly torqued		\$7.25	\$0.00	\$7.25
2	Allan Bates (Contact)	0.25 hrs \$29.00			\$7.25
Ļ \	Walk Around Inspection		\$9.50	\$0.00	\$9.50
٩	MICHAEL ABLOG (Contact)	0.25 hrs \$38.00			\$9.50
-	Grease Unit Grease all grease points on unit, ie. u-joints, s-cams, steering linkage	.	\$6.25	\$0.00	\$6.25
2	Rickylynn Peters (Contact)	0.25 hrs \$25.00			\$6.25
DESCRIPTION			SUMMARY		
			Subtotal Labor		\$1,127.47
			Parts		\$198.05
					\$929.42
			Labor Markup Parts Markup		\$0.00 (0.0%)
			Warranty Credits		\$0.00 (0.0%)
			Discount		\$0.00 (0.0%)
			Tax		\$0.00 (0.0%) -\$0.00 (0.0%)
			Total		31,127.47



Issue		Assigned	Due
#10239	P/S windshield took a rock Reported Nov 21, 2024 by Heinz Zier		
#10238	D/S windshield has crack, Reported Nov 21, 2024 by Heinz Zier		

